H & 0l & AHS B Ml A

A WS X
2 Uzsus XN

ool 24N 22l 2 N (Shol: % 2)

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

WSOl Xl 2t 19,829,888 19,570,372 259,516
1,637,563
466,000
26,100
2,770,135
14,930,090

S W

A H

H=swns X 9,892,468 10,655,534 AT763,066
1,050
466,000
20,000
642,789
8,762,629

&3

M

2 2cl € X 9,573,882 10,397,293 A823,411
466,000
20,000
635,754

8,452,128

&

Mo

gy &224s X 1,230,570 1,230,570 0
366,000
864,570

Mo

307 212t01™ 1,230,570 1,230,570 0
366,000
864,570

Mo

09 2FHAHEXS 1,230,570 1,230,570 0
o8l EAZENS 1,230,570,000& 1,230,570

366,000
864,570

M

228 RIIBES XN 3,900,000 4,920,000 A1,020,000

& 3,900,000 4,920,000 /1,020,000

7
09 2YHEXS 3,900,000 4,920,000 /1,020,000

325,000,000& =122 3,900,000

HAIsAH2=SH HE XA 3,583,222 3,463,863 119,359
570,474
3,012,748

M H

307 212t01™ 3,582,304 3,462,710 119,594
570,474
3,011,830

M

09 2FHHEXS 3,582,304 3,462,710 119,594

5,500,000 43| 22,000

25,0003 +87CH+ 128 26,100




S E=={\[{E PN}
D tsnsS N

2N 22 & A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
cEEHA 24U WEXD
814,456,000 43| 3,257,824
= 570,474
2 2,687,350
CTAQLTHA EABAD
263,980, 0002 263,980
oAl 1A (ARA) ZH]
10,000,000& 10,000
SOIUNSIENIEAN 22| X
200,000 x 122 2,400
308 AFARIEHMSOIE 918 1,153 A235
183 S| 2SO ZB XA AIE 918 1,153 A235
CEHAISHELRRIAAY 2
918,000 918
EIAl 2 X2 &AL 22,000 122,490 100,490
207 ARl 22,000 0 22,000
01 H1ESHI 22,000 0 22,000
o NIbAt HAIESE TAISS
22,000,000& 22,000
WS Ols8Ee| SHXY 29 418,090 330,370 87,720
Il 20,000
= 35,280
= 362,810
201 LBzl 490 490
01 At2teltl 490 490
CDEATIOISHIASTYAS| AL
70,000 713 490
307 21201 & 417,600 329,880 87,720
Jl 20,000
= 35,280
Ea 362,320
05 212t =S 300,000 240,000 60,000
cuWSAAt OlSE S 2F
75,000,000& %42 7| 300,000
Il 20,000
o 280,000
09 2+A2LS 117,600 89,880 27,720
o WS A IR EAl XIS
2,450,000 ~4CH* 123 117,600
= 35,280
[Ea 82,320
sSEE WSZYAHE (1008 SAI2Y) 420,000 330,000 90,000
[ 100,000
= 30,000
[Ea 290,000

&




A WS X
2 Uzsus XN

ool 2aoF el 2 XY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 320,000 230,000 90,000
= 100,000
== 30,000
[Ea 190,000
0 2= AHEXS 320,000 230,000 90,000
o SENAI(1008) XI& 320,000,000 320,000
= 100,000
=S 30,000
s 190,000
308 XtXIEMSO0IH 100,000 100,000
08 wW=J| 202X 100,000 100,000
cHlFEA(RSHE) XN 100,000,000 100,000
s 243t 270,531 207,687 62,844
= 1,050
[ 7,035
T 262,446
SZE ZEXE FHl A 22,000 22,000
401 AlEHIZL SO 22,000 22,000
01 Al&H| 22,000 22,000
osEHA EXE FH
550,000 *40H 22,000
Hsus 224,031 147,587 76,444
201 er2 3| 50,863 29,325 21,538
01 AtR2t2|HI 15,625 17,805 2,180
oclisusS YR SEH|
8,000 x4 125! 4,000
clizsus g8 82 =2
5,100,000& 5,100
CHAD B2 SAUL HE
250,000 87 CH*30% 6,525
02 S3=gHl 35,238 11,520 23,718
=BIS &JIE & Sl 6,500,000& 6,500
CZAHAZEAAH(BIS) FAE
28,738,000 28,738
202 04| 4,800 7,600 22,800
01 =LHAHI 4,800 7,600 2,800
clisusS YR
10,0003 x4 *120& 4,800
203 =8| 2,126 2,500 N374
03 A=A H R FZI| 2,126 2,500 A374
clsUE 243 R
531,300& *4=2 7| 2,126
207 ARl 45,000 45,000
01 H1E4H] 45,000 45,000
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2A:

WSO X2t

3 Usus X
ool Hsus 43t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
cEEHA 28 MHEA AR
45,000,000& 45,000
308 AHXIEMSOIE 121,242 63,162 58,080
183 S| 2SO U ZB&HAEAIE 121,242 63,162 58,080
oA EE HAYME ZN(DEHA)
29,040,000 2L 58,080
oXNT 5 HAME BD
726,000 +87CH 63,162
VA 2GS ALY QHEIE XA 7,000 12,600 15,600
= 1,050
[ 1,785
T 4,165
301 LELEN S 7,000 12,600 25,600
= 1,050
== 1,785
s 4,165
14 J|Et2a s 7,000 12,600 25,600
o gt 2d85s Aty K&
200,000 353 7,000
= 1,050
=S 1,785
s 4,165
DB AHOIEZEEX EXXE A 17,500 17,500 0
< 5,250
s 12,250
402 QI”F X201 & 17,500 17,500 0
= 5,250
= 12,250
02 QI A2 AL E R (0IETHR) 17,500 17,500 0
o 2N AHOIEB2EX K&
500,0002 *35CH 17,500
=S 5,250
s 12,250
Asit s52cl 48,055 50,554 N2,49
ANSKHEE SR 11,216 16,720 25,504
201 Ler23 | 9,216 12,720 A3,504
01 AtR2t2ltl 4,8% 7,680 N2, T84
oASANSEE 225 S 78
30,0002 x85 123l 2,880
cASASE gFFA S|
8,000 4 +63& 2,016
02 s3=gHl 4,320 5,040 AT20
oREE EXIAAE FX2a
360,000 * 122 4,320
202 04l 2,000 4,000 22,000




A WS X
2 Uzsus XN

=@l USx Sss2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 2,000 4,000 /2,000
oNENS=AL 2T
10,0003 x4 E x50 2,000
ASit2te dtele ot 36,839 33,834 3,005
201 fet=2 3| 36,839 33,834 3,005
01 AtR2t2|HI 10,023 10,054 A3
olESi SES(LTEBHN, SERR )
70,0003 #3024 A 2,100
oltsSit ¥ HAULSHUHE XA K=
70,000 *Q8 Ax4F 2,520
oASAt SAI2d ot e
3,000&*1,000= 3,000
oHEI|IHAESAEGIS £, 2EAX 7L
1,730& *1, 1000k 1,903
oXtESE Zelf 2l 250,000& 22 500
2 35234l 26,816 23,780 3,036
oXSXHEA SN KBRS
4302 %20, 0000HK 8,600
oASAt HEHE DA RS
2,5303 +60001~ 128 18,216
Ol RIS XHROR 6,366,380 6,935,573 569,193
= 1,636,513
Il 6,100
= 477,346
o 4,246,421
WSOt ASI| X & 2el 264,600 209,800 54,800
== 30,000
o 234,600
ASJ X & A 189,600 184,800 4,800
201 2= 39,600 34,800 4,800
2 S52g4l 39,600 34,800 4,800
custss & BES 2=
3,300,000& «12& 39,600
206 MH=Hl 20,000 20,000
01 MZH| 20,000 20,000
cusStsSs B4+ Tt ¢ 20,000
—WSASH01D] 5,000,000 x2JH 2= 10,000
== ) 500,000 *107H 2 5,000
~WENSS(LED) 500, 00081« 1004 & 5,000
401 AlEHIZ 2018 130,000 130,000
01 Al&H| 130,000 130,000
cusStssS Ald= X & WA
12,500,000 *8IH 2= 100,000
cHEANEE 2= 500,000 *60IH 2 30,000
WEAL A SHET HHAIE EXASE 25,000 25,000 0
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2A:

WSO X2t

33 UKL RN
Bl nSetd ASI| AX & 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 10,000
s 15,000
401 Al HIZL 01| 25,000 25,000 0
= 10,000
= 15,000
01 Al&H| 25,000 25,000 0
cuWSAL] P BHEE OHMAIE 2X
25,000,000 25,000
=S 10,000
s 15,000
A0IE EHEE XM 40,000 0 40,000
< 16,000
= 24,000
401 Al HIZL 201 40,000 0 40,000
= 16,000
= 24,000
01 Al&H| 40,000 0 40,000
oA[IE EHEL ZXIAY
20,000,000 #20H 2 40,000
= 16,000
o 24,000
ALDREXN S A2HBES XA 10,000 0 10,000
[ 4,000
T 6,000
401 Al HIZL 201 10,000 0 10,000
= 4,000
= 6,000
01 Al&HI 10,000 0 10,000
oAB FBS & AY
1,000,000 * 109 2~ 10,000
= 4,000
o 6,000
SEHQ IS 22 1,100,837 1,357,640 256,803
= 39,303
= 100,000
o 961,534
JIESuHA & RAl2e 1,035,332 1,357,640 A322,308
s 100,000
s 935,332
201 et 3| 458,732 434,840 23,892
01 At22t2l] 5,000 5,000 0
CAREE U IIRS A2F 7Y
50,0002 *105+102 5,000
2 s5=4g4l 453,732 429,840 23,892
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2A:

WSO X2t

33 UKL IR
ol EEH0 OIS 2al EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oJti2s &= 451,200
-2 S(SEH) 5,000& 2,000+ 122 120,000
-EotS(H ) 4,6002+6,0005* 122 331,200
CIIRES LU SUMNER
11,000 * 1 A+ 123 132
oJl2S B2l T2 SX24
200,000 * 122 2,400
206 M=l 164,800 146,000 18,800
01 M=4l 164,800 146,000 18,800
cIES 248 A 115,800
-#= 70,0002 x255+ 128 21,000
=y 50,0002 x30S+ 122 18,000
-XHED & OIE 20,0003 x50 * 122 12,000
-LED SI1+ 300,000« 185+ 122 64,800
ol NMHSEE 70,000 700K 49,000
401 AIEHIZ SR 0HYI 411,800 776,800 A365,000
< 100,000
T 311,800
01 Al&H| 410,000 775,000 A365,000
olfD Jt2S &X ¥ uH
1,000,000 %1005 100,000
oJt2s FAZcl SIS
80,000& 2,500 200,000
oJt2s MJetd HZ & FH
100,000 *1009H 2 10,000
oS0t 22 BHLZ RS EXSAHX
SAIHEALR) 20,000,000& 20,000
= 20,000
oXH Ae EBHLZ H2E EXSAHX
AL AN) 10,000,000 10,000
= 10,000
oSeH ETC HEE RS EXISAHKX
SAIHEALRS) 70,000,000 70,000
= 70,000
03 Al 20HHI 1,800 1,800 0
oIS FAE= & 014, WA, X
1,800,000 1,800
CEAELH] 10T 228 MAH A=A 65,505 0 65,505
= 39,303
Ea 26,202
401 AlZHIZ S 0HHI 65,506 0 65,506
= 39,303
s 26,202
01 A28l 65,505 0 65,505
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2A:

X XH -
o=

WSO X2t
Ol XIS KH2 O &

ol EEH0 OIS 2al (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oIIRS FAFAA P&
236,000 x1857H 2~ 43,660
= 26,196
Ea 17,464
oSS HABAMH =
257,000 854 A 21,845
= 13,107
[Ea 8,738
UIEPNIUE=g==F 5,000,943 5,368,133 A367,190
= 1,597,210
Jl 6,100
= 347,346
Ea 3,050,287
AU X2ES ==X 82,674 81,907 767
=S 22,846
s 59,828
201 et 3| 4,420 1,440 2,980
01 AtR2te|Hl 4,420 1,440 2,980
o0UXl =8 SEH|
8,00021 %380 1,920
SOATIZS U EHLZ A 222 HA
50,0002 x105+53] 2,500
202 04dl 2,100 2,520 N420
01 2L AL 2,100 2,520 A420
oHUHANES =& 20,0002 x3&*36& 2,100
402 212+ X201 & 76,154 77,947 A1,793
[ 22,846
Ea 53,308
02 QI X2 AL EE (01X THE 76,154 77,947 A1,793
oAU 25 FAXAAS
76,154,000 76,154
= 22,846
= 53,308
AHEUHHKES SSEXFAE 3,361,169 4,199,626 838,457
= 1,229,210
= 230,000
= 1,901,959
201 LBzl 700 700
01 At2teltl 700 700
SATHAMUA S2AIE BIRIEs ¢
100,000 7 & *13] 700
402 2I2F X201 & 3,360,469 4,198,926 A\838,457
= 1,229,210
= 230,000
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2A:

E M

WSO X2t
Ol RIS AHR O &

el oiHXIoIE ’o‘& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 1,901,259
02 QI XHE AL E R (01X THE) 3,360,469 4,198,926 A\838,457
SAMTHMOUX 22 S AE A
3, 360,469,000 3,360,469
= 1,229,210
= 230,000
Ea 1,901,259
OIS &2l LPG BH2Y A=A 1,000,000 0 1,000,000
== 90,000
o 910,000
402 2I2E X201 & 1,000,000 0 1,000,000
< 90,000
= 910,000
02 QI X2 AL EE(OIHTHE) 1,000,000 0 1,000,000
SOISCHSl (PO TEAI
1,000, 000,000 »1JH 2 1,000,000
= 90,000
Ea 910,000
FAHS HUHKISA 500,000 0 500,000
= 350,000
o 150,000
401 AIEHIZ SR HYI 500,000 0 500,000
= 350,000
T 150,000
01 A&t 500,000 0 500,000
oHASE LD £ZI|7 DA
500,000,000 500,000
= 350,000
o 150,000
LPGEI| AFEIt7 AlEIHE AL 36,000 67,500 A31,500
= 18,000
s 18,000
403 AXIEHHSAH=201H 36,000 67,500 231,500
= 18,000
Ea 18,000
02 SI12S0ItH et =& 2 €A I 36,000 67,500 /31,500
olPGEI| ALEJtT AlEIHE AL
225,000& 160t 36,000
= 18,000
= 18,000
IIAHEEXI(EHOILIR) E2AY 15,000 15,000 0
=S 4,500
s 10,500
403 AXIEHMSAH=201H 15,000 15,000 0
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FA WSO o
mu: pE=x =3
el F=XEd e (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 1,650,000
FREZNAX AL (F238) (D EAL) 800,000 800,000
=S 400,000
s 400,000
401 AIEHIZ SR THYI 800,000 800,000
< 400,000
[Ea 400,000
01 Al&HI 800,000 800,000
oHSIE TATTE LAY
800,000,000 800,000
= 400,000
= 400,000
TN XA (B AS) (HEALY) 1,000,000 1,000,000
=S 500,000
s 500,000
401 Al HIZ R 0HbI 1,000,000 1,000,000
== 500,000
[Ea 500,000
01 Al&HI 1,000,000 1,000,000
ocEHUT SYFIY ZHAE
1,000,000,000& 1,000,000
= 500,000
= 500,000
FREZNE X2 A (0HEHS) (HEAN) 200,000 200,000
= 100,000
o 100,000
401 AlZHIZ SO 200,000 200,000
== 100,000
o 100,000
01 Al&HI 200,000 200,000
olfahs ST gAY
200,000,000 200,000
= 100,000
= 100,000
TN XA (SOHHATHAL) (M EHALY) 1,300,000 1,300,000
= 650,000
o 650,000
401 Al HIZ S OHbI 1,300,000 1,300,000
s 650,000
s 650,000
01 Al&HI 1,300,000 1,300,000
oSotH 4K SSFIUHE LA
1,300,000,000& 1,300,000
& 650,000
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SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| = 650,000
ws=X 62,000 42,000 20,000
s A& 62,000 42,000 20,000
201 B2 AL| 54,000 34,000 20,000
01 AlR22IH| 4,000 4,000 0
CMEABEI} MO NS S 2Tt
100,000& *8H x53| 4,000
03 HAL2 G| 50,000 30,000 20,000
oFH wWSot ¥ =XtE 22
25,000,000 +23] 50,000
307 212+01™ 8,000 8,000
02 QIZHA A AL E X 8,000 8,000
cuWSX&E HHe 25 XA
6,000,000& 6,000
oB MY 01210 DEXA HE N
2,000,000& 2,000
H SFEHI(nSHH X 54,512 57,265 A2,753
23| 32,055 32,055 0
A2l 32,055 32,055 0
101 e14d| 32,055 32,055 0
01 E= 32,055 32,055 0
oAlZtRl 2R agt
11,1303 * 15 *16 A 2H 12 32,055
23| 22,457 25,210 A2,753
=234l 22,457 25,210 A2,753
201 B2 AY| 18,257 21,010 A2,753
01 At=R2teld| 18,257 21,010 AN2,753
oANRES 7Y 15,0002 *158*123] 2,700
SENR=INEE 25,0003 =10 A+ 123 3,000
cHHBSE M 2003 *8500H* 123 2,040
o=EAI| AR2E P L 2|
1,000,000 *2CH 2,000
oSAD| EXE 165,000& «12& 1,980
HREZ2A=Z 5,040
-S4 20,0002 62+ 12& 1,440
NN 15,0003 202+ 128 3,600
odiz )| A=
54,9003 «1CH* 123 659
oSJ|EEFI| Ltz
34,9003 «2CH 123 838
203 AR F=&lh| 4,200 4,200
M PA2IHRFALI 4,200 4,200
o=2521 0]t 350,000 =12 4,200
S(WSHUHXIL) 154,528 0 154,528
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SA: WSOIHXI
X WRES(REUHUXID
S LIEHAXE

(et &)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
E W PN 154,528 0 154,528
WA XIE 154,528 0 154,528
701 JIEtRIHNSHES 154,528 0 154,528
01 It AN ES 154,528 0 154,528
FAUHEHELN dES

154,528,000 154,528
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